unable ¢t
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channel one pre-filter gain = 8@ db shot number 8 time =
channel two pre-+ilter gain = 8

channel | post filter gain = 12 db

channel 2 post filter gain = 1Z db

start reel 1 time = 888 B8 246 23 @&7=

potential over load on channel 1file number = 444 time = B28 18 14 B BEFx
potential over load on channel 1file number = 247 time = 888 11 84 1& 745%

chranmel one pre=filter gain = 6 dbr shot number 8 time =
channel two pre-filter gain = @

channel 1 post filter gain = 12 db

chranmet 2 post+iltter gain =12 —db

start reel 2 time = 888 18 38 17 227
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potential owver load on channel
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Tiite hidmper - 101 TiMe = ado 17 oo 1f =

potential over load on channel 1file number = &%% time =
potential over load on channel 1file number = 741 time =
potential over load on channel 1file number = %5% time =
potential over load on channel 2

file number = 1111 time = 888 21 43 17 443

potential over toad on channet -1fitenumber =1127 time
potential over load on channel 1file number = 1797 time
potential over load on channel 2

fite number = 2t5& time = 988% 89 3? 27 ege

potential over load on channel ifile number = 2157 time
potential over load on channel 1file number = 2813 time
potential—over—toad onchannel z

file number = 2817 time = B88% 82 27 37 8é2

potential over load on channel 2

file number = 2818 time =-88% 82 27 47 8&1

potential over load on channel 1file number = 2817 time
end of tape shot number = 2744 ti = @EY 82 4% 87 817
replace tape on unit @

start reel 3 time = 88% 82 49 17 817

potential over load on channel z

filTe number = 3@ time = @88% @82 5S4 17 887

potential over load on channel 1¥ile number = 31 time =
potential over load on channel 2

#iTe mumber = 38 time = @8% @82 S5 37 884

paotential over load on channel 1file number = 3% time =
next *ap nat on line 13

next tape not on Tine 13

next tape not on line 13

next tape not on line 13

rmext tape not on Ting 13

next tape not on line lu

potential over load on channel 1¥ile number = 3282 time =
potential over toad on channel t¥ite mumber =328 time =
potential over load on channel 2

file number = 3%5 time = B83% 83 55 B7 &8l

potentialt over toad on channel 2

file number = 483 time = 88% 83 5& 27 &78

potential over load on channel 2

file mumber = 484 time = @89 83 54 37 478

channel one pre—-filter gain = @ db shot number 487 time
channel two pre—filter gain = @

chanmel tpost fitter gazin & —db

channel 2 post filter gain = 12 db

channel one pre-filter gain = 8 db shot number 411 time
chranmet two pre—fitter gain =@

channel 1 post filter gain = & db

channel 2 post filter gain = & db

end of tape shot number = 2946 time = gae—t1-—86-14-861
replace tape on unit 1

start reel 4 time = 88% 11 A0 24 B06

potentiatover toad on chanmel z

file number = 1514 time = 88% 15 13 8% 2V7?

potential over load on channel 2

+ite number = 1947 time = 88% 1& 24 5% 138

potential over load on channel {file number = 1748 time
end of tape shot number = 2944 time = ey 1% 11 28 785
reptace tape on unit @

start reel 5 time = 88% 1% 11 38 783

channel cne pre—filter gain = @ db shot number 2285 tim
channel two pre=filtter gain = 8

channel 1 post filter gain = 12 db

channel 2 post filter gain = é db

chanmel one pre=fitter gain = & —db shot number— 2287 —tim
channel two pre-filter gain = @
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'water delay to 2 GGBGBB aecondq time = @78 @81 37 47 P84 shot = 2217

water delay to |.008680 seconds time = 878 @1 42 47 %74 shot = 2347
channel one pre-~filter gain = 8 db shot number 2357 time = 8%8 @1 44 27 978
channel two pre—-+ilter gain 8

——channel— tfitter gain = de = T
~ potential over load on channel 1file number = 2344 time = 8908 Bl 45 37 948
channel one pre-filter gain = db shot number 2344 time = @8%8 81 43 57 947

channel 1 poset filter gain = 24 db
1=
1

= a
—-thanne+~hno—prt—+f+ter~ga.u =4
channel 1| post filter gain 2
channel 2 post filter gain
- water detay to 2,8006888 seconds time = 898 81 46 27 -F&é—shet = 2367

‘  water de!ay to 2.0800808 zeconds time = @?G a1 44 27 ?66 -vshot_ 23?@

unable to open tape unit: SdewsnridBBmtl

channel one pre-filter gain = @ db shot number
channel two pre-filter gain =8 : Co
channel 1 post filter gain = 12 db

channel 2 post filter gain = {Z db
start reel & time = 878 82 1% 5% 897

end of tape shot number = 2?46 time = B%@ 18 38 48 883 reel = &
replace tape on unit @& o i L T
start reel 7 time = 898 18 38 S8 ag3

potential over load on channel 1file number 452 time = 878 12 1% 32 &858

water delay to 1.8008008 seconds time = @98 12 84 5B 544 shot = %24 -
potential over load on channel 1file number = 1748 time = 898 15 24 19 275

potential over load on channel 2

+i1e number = 2212 { me = 898 14 57 17 832

potential over load on channel 1file number = 2582 time = @%68 17 41 18 #%1

potential over load on channel 1+ile number = 2848 time =

ave 18 °? 38 gqq

end of tape shot numher'* 2?46 time =.3?B'1Br§1v3ﬁ,géén,~PE9§ =7
replace tape on unit 1 e ‘ i
start reel 8 time = 8%8 13 42 BB 245

next tape not on line 14
next tape not on line 14
next tape not on line 14

”.nextif&péunot on line 14 .
next tape not on line 14

next tape not on line 14
next tape not on line 14
next tape not on line 14

next tape not on line ldi"'“'““'
next tape not on line 14 S
no write ring on next tape unit 14

next tape not on line 14
next tape not on line 14
potential over load on channel 2

file number = 418 time = 898 1% 58 18 724

452 time = B99 20 30 38 &41

potential over load on channel 1file number = =
potential over locad on channel 1file number = 453 time = B%8 28 38 48 &44
potential over load on channel 1+ile number = &35 tTime = @78 Z8 31 38 &37
potential over load on channel 2
file number = 131% time = B8%6 22 21 48 418

| potential over load on channel {file number = I3Z@ time = 870 21 38 31g
potential over load on channel 1file number = 1321 time =w3?a 2” 21 48 4186
potential over load on channel 1file number = 1322 time = B%8 22 21 48 418




paotential over load on channel 2
file number = 2844 time = 8%1 @88 327 38 127

potential owver load on channel 1file number = 20844 time = 691 88 37 S8 128
end of tape shot number = 2944 time = @8%1 63 18 89 812 reel = 3

replace tape on unit @ — .

ztart reel % time = 891 83 168 {9 812

next tape not on line 13

next tape not on line 13 .
next tape not on line 12

next tape not on line 132

next tape not on line 13 -

next tape not on line 12

next tape not on line 13

next tape not on line 13 . ;
potential over load on channel 1file number = 283 time = 8%1 44 {4 8% &7%
potential over locad on channel 1file number = 384 time = BF1 @4 14 17 &F%
potential owver load on channel 1file number = 2385 time = @8%1 A4 14 2% 478
potential over load on channel 1file number = 422 time = 8%1 84 28 3% &&848

g1
in

end of tape shot number = 2944 time = 8% 11 21 1t8-7¢ reel =%
replace tape on unit 1

start reel 18 time = @%1 11 21 28 7%4

next tape not -on bine 14 ———
next tape not on ling 14

next tape not on line 14

no—wreite ping on-next tape unit 14

{

channel ane pre—filter gain = 8 db shot number B time = ‘
channel ftwo pre—-+ilter gain = @
channel 1 post filter gain = 12 db ’ ' -
channel 2 post filter gain = 12
start reel 11 time = B%1 1% 32 “
¢
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1% 7353
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end of tape shot number = 2%448 time =
replace tape on unit @

start reel 12 time = @%2 84 83 18 757

r

[acn]
1
P
foute
P
—
I
et
=4
.
r
o
-1
11}
L]
]
—
o

end of tape shot number = 2%¥44 time =
replace tape on unit |

start reel 132 ftime = @72 12 14 27 7&8

r

[T
i

ga¥z 17 @85

potential over load on channel 1+ile number = 2448 time = ¥ T OFED
potential over load on channel 2

fite number = 23%8 time = @92 % 2717808 MRSt —
potential cver load on channel 1{file number = 25%% time = @92 19 27 2% 884
potential over load on channel Ifile number = 2488 time = @%2 1% 27 3% 7%
potentiat over toad onchannet—i+ite number = 2464 time =822 1% 268 1% 878

potential owver load on channel 1file number 2585 time asz 1% 28 2% 878
potential over locad on channel 2 :
fite rmumber = 2%93% time = @%2 28 24 8% 7453 S o Y e
potential over load on channel 1file number 2748 time a9z 28 249 1%
end of tape shot number = 2944 time = @%2 28 25 1% 748 reel = 13
repltace—tape on unit -8 : — e

start reel 14 time = B%2 28 25 2% 748 i
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potential over load on channel 1file number 2138 time g9z Bz 21 2% 823

potential over load on channel 1file number = 2137 time av3 a2 21 2% 824 ]
water delay to 23.8880888 seconds time = 692 B84 13 4% 792 shot = 2811 l

Wate,
T d
*13y to 3.p000680 seconds time = 853 84 13 59 792 shot = 2812
—water—delay to 3,08808868 seconds time =893 84 14689 79— shot =284 — —————
water delary to 3.0800888 seconds time = 693 84 14 19 7%1 shot = 2814

——repltace tape on unit { — —
start reel 15 time = @93 84 34 48 745

|

end of tape shot number = 2744 time = @932 84 3& 328 745 reel = 14 |
- |

|

l

potential over load on channel 1file number = 23 time = 8%3 84 52 @8 713
potential over load on channel 1file number = 312 time = 873 85 45

channel one pre—-filter gain = 8 db shot number @ time =
—£channel two pre—filter gain = 8

channel 1 post filter gain = 12 db

channel 2 post filter gain = 12 db
—start reel 1é time = A23 85 5% 28 554 L

water delay to 5.379978 szeconds time = B®3 68 58 @1 285 shot

I

1873

water delay to 4.8088088 seconds time = 8%3 13 @86 58 785 shot 2538

end of tape shot number = 2944 time = @893 14 18 18 S&2 reel = 14
replace tape on unit @
— start reel 17 time = B%23 14 18 28 5&2

channel one pre—filter gain = 8 db shot number 8 time =
channel two pre—+filter gain = @

channel 1 post filter gain
channel 2 post filter gain

12 ab
12 db
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water delay to 4.8668080808 ceconds time g2 28 5% 41 7ié shot 1224

water delay to 2.06888806 seconds time B¥3 22 44 28 278 shot 2725
—end of tape shot number = 2944 time = @93 23 49 5% 243 reel = 182

replace tape on unit B8

start reel 19 time = B892 Z3 S8 8% 3243

L - v s

. channel one pre-filter gain =
channel two pre—+ilter gain =
—chanmet -t post-—Filttergain =1
channel 2 post filter gain = 12 db
start reel 28 time = @8%4 @5 11 2% &7F
mm*tr~de+&r—tc~5—&&&&&&~setonds~f+mt—-—894—&?w2%—%?—H}F——iﬁﬁﬂf-4%@‘

end of tape shot number = 2944 time = 894 13 22 22 685 res]l = 2@

replace tape on unit @
start reel 21 time = 8%4 13 22 32 &85

@ db shot number @ time =
B

i,
L

channel one pre-filter gain = @ db shot number 6 time =
channel two pre—-+ilter gain = @

channel | post filter gain = 12 db

channel 2 post filter gain = 12 db

start reel 22 time = 874 14 56 42 4%8

potential over load on channel 1+file number = 14325 time = 8%4 18 55 41 #%&
potential over load on channel 1file number = 144% time = 894 18 S8 a1 271
potential over load on channel Ifile number = 1458 time = 4718 58 11 791

ll

potential ocver load on channel 1file number 1454 ftme 3?4 18 59 11 %89

potential over load on channel 2

file number = 14483 time = 8%4 {2 @@ 21 $8& -
water delay to 4.890880808 seconds time = @%4 21 38 28 &74& shot = 2243
a4 22 43 28 5235

potential over load on channel 1file number = 2881 time
potential over load on channel 1file number = ZB8BZ time

potential over load on channel 1file number'= 28683 time

nun

94 22 43 48 524

end of tape shot number = 2744 time = 8%4 22 B7 38 475 reel = 22

| __replace tape on unit @
start reel 23 time = 894 23 87 48 474

potential ower load on channel 2
o File number = 211 time = @8%4 232 42 S8 482 '
water delay to 2.8660088 zeconds time = 8%5 @6 27 S8 289 zhot = 541

potential over load on channel 2

file number = &48% time = 875 86 4% 19 265
potential over load on channel 1file number
potential owver load on channel 2

file number = &12 time = B8%5 88 4% 49 Z&4
potential over load on channel 1file number = 413 time = @95 8@ 49 59 244
potential over load on channel 1file number = 1823 time = 8%5 81 58 1% 123
potential cver load on channel 2

file number = 1824 time = 8%5 81 52 2% 1232

&18 time = 8935 88 4% 2% 245




unable to open tape unit: Sdev/nrlidéB8mtl

channel one pre—filter gain 8 db shot number 8 time =

- channel two pre—filter gain @
~ channel 1 post filter gain = 12 db
- channel 2 post filter gain = 12 db

start reel 24 time = @935 B3 88 18 2735

“potential over Toad an channel 1+¥iTe number = 288 time = @75 84 3 =
potential over load on channel 1file number = 1199 time = 895 @& 1? 58 56?
water delay to 4.0808688 ceconds time = 8%5 @4 24 8% 555 shot = 1234

T water delay to 5.00@00@ seconds time = 895 89 22 89 178 shot = 2352

end of tape shot number = 2944 time = 8925 11 11 @9 %77 reel = Z4
replace tape on unit @

o start reel 25 time = 895 1T 11 19 977 T T T T T

8 db shot number @8 time =
@

channel one pre—filter gain
channel two pre—filter gain

: - . -{W P ‘Lﬂl 4-“-\.‘
"channei 2 past filter gatn =12 db
start reel 26 time = 895 18 15449 8%8

——water delay to 4.,008008 ce

end of tape shot number = 2944 time = 856 B2 27441 884 reel = 26

start reel 27 time = 8%& 82 27451 ag4

. water delay to 3.800008 seconds time = 89& 07 84415 513  shot 3559‘5'
| unable to open tape unit: Sdev/nridéadmtl ' B

channel one pre—-filter gain = 8 db shot number @ time =
channel two pre—-filter gain = @
channel 1 post filter gain 12 db

| channel 2 post filter gain = 12 db T
~start reel 28 t:me = B?é 89 47 59 195

water delay to 4.808080 seconds time = @8%4& 12 27 48 851 zshot = 258

replace tape on unit @
. start reel 2% time = @%& 17 5% 32 185

end of tape shot number = 2%94& time = 897 BZ 11 51 215 reel = 29
replace tape on unit 1

start reel 38 time = 8%7 82 12 @81 214

channel one pre-+filter gain = @
channel two pre-filter gain = @
channel 1 post filter gain = 12

db shot number 8 time =

db




12 db
%7 @835 52 41 771

channel 2 post filter gain =

ztart reel 21 time =

‘ |
|
| end of tape shot number = 2944 time = 897 14 823 28 797 reel = 31
% replace tape on unit @ 1
- start reel 32 time = @97 14 83 48 774 !
|
| |
|
} next tape not on line 132
water delay to 4.80808888 seconds time = 8%7 14 18 18 541 shot = 75%
: water delay to 3.088808 seconds time = 897 28 55 @8 955 shot = 244&%
 end of tape shot number = 2944 time = 8%7 22 14 48 778@ reel = 32
} replace tape on unit 1
- start reel 33 time = @97 22 14 38 778
potential over load on channel 2
file number = 288 time = @%7 23 84 B8 &84
potential over load on channel 2
file number = 781 time = 892 66 11 38 548
channel one pre—filter gain = @8 db shot number 8 time =
chanmel two pre=fitter gain =4#
channel 1| post filter gain = 12 db i
channel 2 post filter gain = 12 db
start reel 34 time = @F8 61 2088 485 I
water delay to 4.8080808 seconds time = 8%8 84 5% 59 %32 zhot = 1321
water delay to 4.6008808 seconds time = A8 85 868 8% 2232 shaot = 1322 ]
end of tape shot number = 2944 time = 8%8 8% 3B 51 374 reel = 34 - J

replace tape on unit @
start reel 35 time = 898 8% 31 a1l 374

water delay to 5.808800 seconds time = 898 15 59 18 S47  shot = Z3Z9

channel one pre—+filter gain = 8 db shot number @ time = |

channel two pre—+tilter gain = 8 |
——chanmel—tpostftittergain=42—-db———— e 1

channel 2 post filter gain = 12 db

start reel 36 time = 0898 17 48 18 342.

R - e Rain e

|

end of tape shot number = 2744 time = 8%% 81 58 52 343. reel = 38

replace tape on unit @

—start-peel 372 time = @99 B 5% B 2. e I

water delay to 4.800880 seconds time = 859 03 28 39 194, ahot = 489

water delay to 3.0088688 seconds time = B%% 88 B7 28 S8Z. shot = 2289

potential ocver load on channel 2

file number = 27&4 time = 879 8% 29 5@k

cad on channel 2

39z,



end of tape shot number = 27944 time = %% 16 18 18 32%. reel = 37
replace tape on unit 1

start reel 28 time = B8%% 16 18 28 22%.

potential over load on channel 2

file number = 558 time = @%% 11 42 18 (328,

.__jﬂﬁ&nide_Lmﬁtﬂlﬂﬂd_QL__h nnel 2
o Fite number = 35F time = 8FF 11 43 28 1328,
potential over load on channel 1file number = &42 time

899 11 57 28 189,
. channel one pre—filter gain =8 db shot number @ time o

]

channel ftwo pre—-filter gain = 8
channel 1 post filter gain iz db

—channel 2 post filter gain = 12 db »
 start reel 3% time = A%9% 12 A4 86 8594 L

water delay to 4.0888088 seconds time = a9y 15 85 19 ?25 shot = 1@ag%
. _channel one pre-filter gain =8 db shot number 8 time = =

channel ftwo pre—filter gain = @
channel 1 post filter gain iz db
channel 2 post filter gain 12  db

 start reel 48 time = 877 28 25 20 84 -
channel one pre—filter gain = 8 db shot number @ time
channel two pre-filter gain = @

channel 1 post filter gain = 12 db
channel 2 post +ilter gain = 12 db

—=start reel 41 time = B%7 21 18 19 P40¥ T
 water delay to 4.08008008 seconds time = E?? Zi 1? d? ?5?*;{shth#_915*“’

water delay to 2.6068808 seconds time = 186 82 38 12 345% shot = 1873

'—1EETFF—UET§?“tu'2—3aﬁeﬁﬁ“gfcuﬁd§"YTmfa

channe1 one pre*f:lter galn = 6 db shat number B tzme #,

- im =8
channel | post fllter gain = 12 db
channel 2 post f;lter gain = 1

=tart resl— = Tﬁﬁ—ﬁﬁ—ﬁf—?&—ﬁé&*
mﬁOf?ﬂfl&? ouer load on channel 2
- file ﬂumher = 176 time = 168 85 1@ 3& BEz*

potential over load on channel 2
file number = ZBE time = 186 85 14 2% #74%

-vreplace tape on unit @
start reel 43 time = 1868 12 S22 {9 9?6*

|
|
l
end of tape shot number = 2944 time a;i_z

next tape not on line 13
next tape not on line 13

next tape not on line {2
next tape not on line 13
next tape not on line 13

~next tape not on line 13
next tape not on line 13
next tape not on line 13

no write ring on next tape unit 13

-3T&mmuuiéw&@nd%~%f_.

-':potehtial over load on channel 2 L '
" file number = 1229 time = 188 14 17 280 483#%

potential cver load on channel 1file number = 1238 time = (@@ 1& 17 30 &893

potential over load on channel 2




D S omm e e T - T I s . o A o

end of tape shot number = 2744 time = 188 21 83 38 182% reel = 43
replace tape on unit 1
start reel 44 time = 188 21 83 48 1azZ=

channel one pre—filter gain = 8 db shot number @ time =
channel two pre—-filter gain = @

channel 1 post filter gain = 12 db

channel 2 post Filter gain = 12 db

start reel 45 time = 181 66 29 8% &7&

water delay to 4.8B0888 seconds time = 181 B4 28 11 195  shot = 138&

end of tape shot number = 2944 time = 181 82 49 11 &44 resl = 45
replace tape on unit @ . o

start reel 44 time = 181 B8 48 21 &£44

water delay to 3.808088 seconds time = 181 1@ 42 41 278 shot = 734

channel one pre—-filter gain = @8 db shot number 8 time =
channel two pre—Ffilter gain = 8 '
channel 1 post filter gain = 12 db
channel 2 post filter gain = 12 db

start reel 47 time = 181 14 28 3% %22 ' N T T

water delay to 4.0@0@EPE seconds time = 181 1& 18 19 711 shot = &1
channel one pre—fiilter gain = & db shot number @ time =

channel two pre-+filter gaipn =&
channel 1 post filter gain = 12 db

channel 2 post filter gain = 12 db

start reel 48 fime = 181 22 332 4% %23

water delay to 3.0068088 seconds time = 182 @82 3@ 12 312 shot = 177%

potential over load on channel 1file number = 254% time = 182 85 41 51 @37
channel one pre~filter gain =8 db shot pumber 8 time = : -
channel two pre—+filter gain = @

channel 1| post Filter gain = 12 db a

channel 2 post filter gain = 12 db o 01 05“ =

start reel 4% time = 18218535854876804 -—-'

potential over load on channel 1file number = 117 time = 1821843173577 764
potential over load on channel 1file number 359 time = 182184308519 78886
potential over load on channel Z2

file number = 44% time = 1821687321351%784%

potential over load on channel 1file number = 892 time = |AZI1BE32778%748%4
water delay to 1.0080868 seconds time = 18218%3245297577 shot = 1234
potential over load on channel 2

file number = 1251 time = 18218932&45587571

potential over load on channel 1file number = 1252 time = 1@2'@?‘2?.@8'5?1
potential over load on channel 1file number = 1253 time = 18218%93273187571
potential over load on channel ifile number = 1272 time = 1821093385227 5484
potential over load on channel 1file number = 1273 time = 1021673385377 544
potential over load on channel 1file number = 15335% time = 1682118318531%97444
potential over load on channel 1file number = 15%4 time = 18Z2116832452%7431
potential over load on channel 14ile number = 1397 time = 1821183245397451
potential ocver locad on channel 1file number = 2815 time = 182111332451 97384




potential over load on channel 2 N
file number = 2826 time = 182113314516878%74

potential over load on channel 1file number = 2&27 time = 18211331&5287@%3
{4 05 %4
= 192114365539?99@

potential over load on channel 1file number = 2923 time
; —shet-number = 2744 tim s

feplaée tape on unit @ 7
start reel 5@ time = 1921143895397982 ﬂO’l '\t\ 09\ ‘bo\

ff"ﬁﬁf?ﬁf‘ET“ﬁUEF“T“Eﬁ“ﬁm‘tﬁﬁﬁﬁ?T’T?WTE“ﬁumbgr—-*i15“1TmE“=“Tﬁ?ft#&#ﬁﬁﬁ???
| water delay to 2.80088088 seconds time = 1BZ11535051%7793 shot = 484

resetting the clock format

» patentaal over load on :hannel 2 .
_$ile number = B7& time = 162 14 35 48 497

877 time 182 14 25 S8 499
potential over load on channel 1+4ile number 58 time 182 14 48 Ga 6?3

potential over load on channel 1+file number

~ potential over load on champel 2~
 file number = 1878 time = 182 17 8% 20 429 .
potential over load on channel 2

tile number = 187% time = 182 17 8% 38 &29
potential over load on channel 2
file number = 1821 time = 182 17 @% S8 &AZ2

potential over Toad on channel 2~
file number = 1157 time = 182 17 22 38 &8z
potential owver load on channel 2 '

file number = 11&2 time = 182 17 22 28 &@0

D PP P DRV

potentlal over load on channel 1file number
potential over load on channel Ifile 1 z
P tial over load on channel 1file ot 182 2@ 35 8@ 284

_end of tape shot number = 2944 time = 182 22 2@ 3? $84 reel = 5@ T

2228 time

1az 28 1% 48 23T

potential over load on channel 1+file number = 11483 time = (82 17 23 38 484
potential over load on channel 2

file number = 1510 time = 102 18 21 20 486 e
potential over load on channel 1file number = 1511 time = 182 18 21 30 480
potential over load on channel 1file number = 1432 time = 182 18 41 48 438
potential over load on channel {file number = {433 time = 182 18 41 =@ 437
potential over load on channel 1file number = 1884 time = 182 1% 22 48 351

replace tape on unit {
start reel 51 time = 182 22 28 4% 784

o 4 Etat oo Foad ‘ ‘ b tfite muml L 114 time = {1@2 - 20 30 947
potential over load on channel 1file number = 183 time = 182 22 51 @% %23
potential over locad on channel 2

-4ﬁ+t—numbtrﬂrﬁﬁykﬂﬁmm—-—%&2—22~5¥ a7
pctenttai over load on channel 2 ‘

;ﬁ file number = 243 time = 182 23 084 29 8?6

~—potential over toad on channel 2

file number = 244 time = 182 23 84 3% 374
potential over load on channel 2
g—ﬁ¢4 tme—=—182-23-85 8% 893

268 time = 102

potent:alvouer Ioad on channel 1+ile number} 1 i 1k ‘ - ' a94q
249 time = 182 23 as 2? &894

: patgntlai over load on channel 1file number

]&ﬂf

channel—2

file number = 2%5 time = 182 23 8% 4% 283
potentlal aover load on channel 1¥ile number

2746 time 1@2 23 89 59 885

P




| el e e oo e e e E e Rl e B e e s S T R . I

182 23 1@ 19 S84

potential over locad on channel i1file number = 292 time =

potential over load on channel 2

file number = 318 time = 182 23 13 3% 877

potential over load on channel 1file number 317 time 182 23 13 4% 877

potential over locad on channel 1file number = 333 time = 182 23 1& 8% 872
'potwntTa+—over"foad"nn—channef~++T+ewﬁumbtf—-4ﬁ9~++mt—=—+62—23—2?—%9—849——~——~——~—
potential over load on channel 2
file number = 414 time = 182 23 2% 5% 843

—potential over toad on channel tfite number = 417 time =162 23 36 8% 843
potential over load on channel 2
file number = B84% time = 183 66 42 8% 495

—potentizl over toad on channet—tfite number = 858 time = 183 884219 %5

channel one pre—-filter gain = @8 db shot number 8 time =
channel two pre—-filter gain = @
—Channel 1 post filter gain 12 db

channel 2 post filter gain = 12 db
start reel 52 time = 183 686 44 3% 938

—end of tape
replace tape on unit @ e . .
start reel 53 time = 183 14 57 48 987 |

o
I

—water delay to 3.,000000 secon i 183 a1 84 Tot= 1822
 water delay toc 2.0060000 seconds txme = 183 21 41 51 883 -~ shot = 2425
potential over locad on channel 1file number = 2592 time = 163 22 8% 48 827
—potential over toad on channmelt—2
t+ile number = 25%9% time = 183 22 18 58 624
potential over load on channel 1file number = 2486 time = 183 22 11 88 624
f"*poteﬂiﬁﬁd~1mnn*—%aad—on—chznﬁ?+~f+r+e—nnmbtr—*—26ﬁ2—tfmt-~+83~22~++~2&~8 T
~ potential over load on channel 1file number = 2483 time = 183 22 {1 38 B23
potential over load on channel 1file number = 2484 time = {683 22 11 48 823
— —potentiatover—toad-on-—channet—t+ite-number = 2484 time =183 22 12 88 822 —
potential cover load on channel 2
tile number = 2443 time = 183 22 12 18 8879
—potentialover—toad on channet 1+ umber = 2&44time =183 22 1826809 —
- end of tape shot number = 2944 time = 103 23 68 39 986 reel =853 - o s
replace tape on unit 1 e N e

——startreel—S4time =183 -23- 884949 984

water delay to 3.688080 seconds time = 183 23 32 5% 254 shot = 144

channel one pre—-filter gain = 8 db shot number B time =

—thanﬂe+~%we~¢fe~4+4ief—garn =8 : - e :

channel | post Filter gain = 12 db

channel 2 post filter gain = 12 db

start reel S5 time = 184 81 82 88 &71

water delay to 4.8008008 seconds time = 184 81 58 18 572 shot = 298
‘“ﬂ#&f?ﬁ*dt+tr“fﬁ”57&ﬁﬁﬁﬁﬂ”SttﬁﬁﬂS—f+m!"'"+ﬁ4—ﬁ4—23*2¥—26+~*;§hﬁ%*=~++?@

water delay to 4.8000848 seconds tlme = 1@4 88 53 41 ?@2 shot = 2838

f channel one pre-f:lter galn = 8 db =hot numbervﬁjtwme
. channel two pre-filter gain = 8

—channel 1 post filter gain = 12 db

channel 2 post filter gain = 12 db
start reel Sé time = 184 @2 1% 1% &56@ 7 2




I
o]

channel two pre—-filter gain
channel 1 post filter gain = 12 db

channel 2 post filter gain =

start reel 94 time = 184 8% S1 48 584

water delay to 4.000886868 seconds time = 184 14 38 11 812 shot

1478

water delay to 3.00000808 seconds time = 184 14 48 39 743 shat = 2453

replace tape on unit @

water delay to Z.B008686 seconds time = 184 18 15 28 S4% shot = 475
potential over load on channel 2

file number = 773 time = 184 1% 835 88 447
potential over load on channel 1file nuﬁbéﬁ*=

. = 104 15 23 20 448

water delay to 2.888880 seconds time = 184 28 32 31 247 shaot = 1364

channel one pre—filter gain = 8 db shot number 8 time =
channel two pre—-filter gain = @
channel 1 post filter gain 12 db

channel 2 post filter gain = 12 db
start reel S8 time = 184 28 56 21 22;

water delay to 4.880000 seconds time = 183 81 48 48 548 shot = 1787

end of tape shot number = 2744 time = 185 @5 67 11 244 reel = 98
replace tape on unit @

TrERt tape not o time 14

start reel 5% time = 16835 85 B? 21 244

~end of tape shot number = 2944 time = 185 13 {8 28 230  reel = 5%

replace tape on unit |

start reel &8 time = 185 13 128 28 2Z2¢ - -

next tape not on ltine 14
next tape not on linme 14

— et tape nmoton et

next tape not on line 14
next tape not oo line 14

—mext tape noton-tine 14

no write ring on next tape unit 14 TUGRO \D TOD ¢

water delay to Z.9R80808 seconds time = 185 15 S8 2% #14 shot = 212

__channel one pre—-+tilter gain

@ db shot number @ time =

i

channel two pre—-filter gain 5]
channel 1| post filter gain = 12 db
channel 2 post filter gain = 12 db

start reel &1 time = 185 22 2% 20 @38

water delay to 4.08008088 seconds time = 184 82 1@ 58 &2% shot = 133248




s A 2 S -
channel two pre—filter gain = 8
channel | post filter gain = 12 db
channel 2 post filter gain = 12 db
start reel 42 time = 184 B84 23 41 184

end of tape shot number = 2%44 time = 184 14 34 52 @99 reel = &2
replace tape on unit @

start reel &3 time = 184 14 35 @8Z @%8

water delay to 2.000080 seconds time = 184 15 15 12 818 shot = 241
channel—one pre—filter-gain =8  db shot number 8 time =

channel two pre-filter gain = @

channel 1| post filter gain = 12 db

channel 2 post filter gain =12 db o

start reel 44 time = 184 21 23 28 282

water delay to 4,88008088 seconds time = 187 @82 15 11 &57 shot = 1751

end of tape shot number = 2%44 time = 187 85 34 22 243 reel =&
replace tape on unit @

start reel 45 time = 187 85 34 32 243

channel one pre=Ffilter gain = @ db shot number—8& time =" ——
channel two pre—-filter gain = @

channel | post filter gain = 12 db

channel 2 post Filtter gain =12 db

start reel &4 time = 187 87 53 11 255

water delay to 3.86880808 seconds time = 187 14 16 31 178 shot = 2248
end of tape shot number = 2%44 time = 187 1& 83 39 #34 resel = &&

replace tape on unit @
start reel &7 time = 187 14 64 8% %34

db shot number B time =

channel one pre—filter gain = @
channel two pre—-filter gain = @
channel T post fitter gain = 12 db
channel 2 post filter gain = 12 db

start reel &8 time = 187 21 18 21 283

water delay to 4.000088 seconds time = 1688 84 368 18 387 shot = 2592
end of tape shot number = 2944 time = 188 85 27 11 245 reel = &8
replace tape on unit @ -
start reel 4% time = 188 @3 2% 21 244

channel one pre—-filter gain = 8 db shot number @ time =
channel two pre-filter gain =@ =
channel 1 post filter gain = 12 db
channel 2 post filter gain = 12 db /f



potential ocver load on channel 2

file number = 1445 time = 188 15 22 24 %13

channel one pre-filter gain = @ db shot number 8 time
channel two pre—-+filter gain = @

channel 1| post filter gain = 12 db

channel 2 post filter gain = 12 db

start reel 71 time = 188 1& 17 23 ¢

unable to open tape unit: Sdevs/nrldéB@mtl

channel one pre-+filter gain = 8 db shot number 8 ftime =
channel two pre-+ilter gain = 8

channel 1 post filter gain = 12 db

channel 2 post filter gain = 12 db

start reel 72 time = 168 22 23 38 &435

potential over load on channel 2
file number = 1125 time = 18% 81 42 58 234
potential over load on channel 1file number = 1174 time = 18% @1 43 0@ 234

patential over. locad on channel 2

file number = 1197 time = 18% 81 432 1@ 234

water delay to Z2.088088 seconds time = 18% 82 58 28 875 shat = léaa
potential over load on channel 2

file number = 1848 time = 168% 83 34 5% 683

potential over load on channel 14ile number = 184% time = 18% 83 35 A% HASI

o

potential over load on channel 2
file number = 2278 time = 1689 84 43 18 2&2

potential over load on channel 1file number = 2335 time = 18% 84 SZ 48 843
chranmel one pre=fitter gain = § db shot-nomber & time =

{3}

channel two pre—+filter gain =
channel 1 post +ilter gain = 12 db
channet 2 past fitter gain =12 db
start reel 73 time = 18% @85 43 13 73

N 'U

water delay to 2.80800868 seconds time = 1@8% 18 25 498 132 shaot = 1754
end-ot tape sh t-number- =245 time—=18% 13 5419 728 reel-=F3 -
replace tape on unit 8

start reel 74 time = 18% 13 54 2% 717

next tape not on line 13

water delay to 2.888808 cecondes time = -16% 1% 82 8% 882 =hot = 1844
water delay to 4.800808 seconde time = 16% 1% 82 28 @81 shaot = 1847
end of tape shot number = 2744 time = 18% 22 85 2Z¥ 711 Teel = 74

replace tape on unit 1
start reel 75 time = 18% 22 85 2% 711

/S



channel one pre—-+filter gain = 8 db shot number 8 time =
channel two pre~f&1ter gain = @
channel 1 post filter gain = 12 db .
channel 2 post filter gain = 12 db
start reel 74 time = 118381 55 8% 244
T owir
resetting the clock format
water delay to 2.0806808 seconds time = 118 84 432 88 &55 shot-=-1728
end of tape shot number = 2944 time = 116 18 8& @9 227 reel = 7&
replace tape on unit @
start - reel 77 time =118 180519237
water delay to 2.080888 seconds time = 118 18 45 5% 154 shot = 238
potential over load on channel 1file number = 413 time = 118 11 48 31 825
potential overtoadonchanmel—t+fite number—=-&24 time =118 1282 88 77
potential over load on channel 1file number = &25 time = 1108 12 B2 18 %75
potential cver load on channel 1file number = 783 time = 118 12 83 28 ¥%4
potential over load on channel 1file number = 132347 time = 118 13 54 1% 744
potential over load on channel 1+ile number = 1382 time = 118 14 38 8% &%8
potential over load on channel 2 . : ~
file number = 2888 time = 118 135 41 uf 43
potential over load on channel 1file number = 2B88% time = 118 15 41 1% 543
potential over load on channel 1file number = 2857 time = 118 13 4% 1% 32&
channel one pre—-filter gain = 8 db shot number @8 time =
channel two pre-filter gain = @ ~
channel 1 post filter gain = 12 db
channel 2 pu:t filter gain = {2 db
start reel 78 time = 118 17 32 3% 311 -
water delay to 2.0080868 seconds time = 118 21 3& 27 88B& shot = 1482
end of tape shot number = 2944 time = {11 @1 42 5@ 298 reel = 78
replace tape on unit @
start reel 7% time = 111 A1 44 pe 277
next tape not on line 13
next tape not on line 13
water delay to 4.0886880 seconds tim: = 111 87 32 8% 378 shot = 2889
end of tape shot number = 2944 time 111 8% 55 @@ 27% reel = 79
replace tape on unit 1
start reel 88 time = 111 8% S5 279 “w. AP‘
chranmel one pre=fitter gain =8 dbshot momber—98 time s
channel two pre-filter gain = 8
channel 1| post filter gain = 12 db
channel 2 post Filter gain = 12 db
start reel 28 time = 111 11 34 38 @73

/¢




water delay to 2.868688688 seconds time = 111 18 458 a1l 178 shot = 24862
end of tape shot number = 2744 time = 111 1% 45 28 @73 reel = 58
replace tape on unit @
start reel 81 time = 111 1% 45 48 a7z
- pote ] over lToad on channel 1file number = 858 time = 111 22 B7 19 786

93
Sae

potential over load on channel 1file number = 1418 time
potential channel 1+ile number = 1427 time

‘;5»53555
9 581
573

e

551

channel tfile numueh 1@ 432 t
channel numbehwﬁ+ﬁia

potential
. pqténtia}

= 112 B8 8z a7

potential over load on channel 1file number = 133% time
potential over load on channel 2
wwﬁH41rTnmﬂnn~ﬂ*ﬁHBHF4ﬁﬂm~*h+%2—%&-&2~§9~%

T 53? : ti me

545 time . 5 2

542

k potentaal ouer !oad on channe1 1Ft¥e number
‘W_WMHHCI z
file number = 1571 time = 112 88 87 2% 544
potential over load on channel 2

i
(s
[
rd
=
o }
for)
i
3]
~

potential over !oad on channel 2
y» file number = 1488 time = 112 @8 12 1% 53&
*pﬂftﬁfft+*ﬁﬁtﬁ*+ﬁtd-ﬁﬁ~chtﬁﬂ!+—++++e—ﬁﬁmb?Fm—~4€£4~4+#E~—~44&?E@~44F4§L4ﬁﬂL————————
potential over load on channel 2
file number = 1411 time = 112 @66 14 By S24

o : & » : —chanmel - : S .
potent:al over toad on channel iflie number = 1723‘;»*:”2””
~ potential over load on channel ifile number = 175% time
—potentiat—over toad on channel—2
file number = 1783 time = 112 6@ 42 4% 448
potential over load on channel 2
~~~~~~ fite number =1848 time = 112 868 52 19 448
' potent:ai over load on channel 2 e
file number = 1854 time = 112 88 54 3% 444
1ﬂ3tewfra+~ov?r"+naﬁ-on*thawna+~f+f+e~ﬁumber*-+855~++me—-—++2—8&—§4—4$—443———~—~——
potential over load on channel 1file number = 184% time = 112 86 57 8% 429
potential over load on channel 1file number = 1871 time = 112 @8 57 2% 438
""*patantra+~cvvr~+cad“on-thtnnt- e T
f:fe number'= 1881 trme 112 BE 5? E? 434 fﬁ,**””“f"?"f“*““’ o

‘”—FEYFWTTET_ﬁU?F”TUEIFtM“tﬁEﬁﬁFf“T*TTF“ﬁUmb?F“—“Eﬁfﬁ_fTm?““*¥f2“&3“ﬁ iF 18}'

potentlal cver load on channel 14:1e number = Z&58 time = {12 B3 @3 37 148

- potential over toad on ; —ramber ST e—=—1-12-03-88-47 168 —
*"water delay to Z.0p6000 seconds txme 112 83 13 19 165 :ahbtvzjﬁééﬁ;j .

potential over lcad on channel 2

file number = 2784 time = 112 832 1& 29 132

potential over load on channel 1file number = 2785 time
’_pdtehtial over load on channel 1file number = 2?&5 time

.end of tape shot number = 274¢ time =3112 93v57 a1 @és reelvésat

~—reptace tape on unit i
ztart reel 82 time = 112 83 57 11 847

112 6z 14 39 151

potent;al over locad on channel 2
| file number = 44 time = {12 84 A4 21 @52 o : i
potential over load on channel 1file number = &7 time = 112 @4 @8 11 843

17




potent§a1 over load on channel 1file number = 44% time = 112 85 11 S@a %17
, potential over load on channel 1file number = 4568 time = 112 85 12 68 %12

potential over load on channel 1file number = 4932 time = 112 85 17 1@ 897

potential over load on channel 1file number = 4924 time = 112 85 19 28 897

potential over load on channel 2

file number = 4%8 time = {12 @5 28 @@ 275 - ' e

potential over load on channel 1file number = 499 time = 112 85 28 18 895

potential over load on channel 1file number = 588 time = 112 @85 28 28 895

potential over lToad on channel 2

file number = S58% time = 112 85 35 186 2&4

water delay to 2.8088688 seconds time = 112 8% S3 28 332 shot = 21

- end of tape shot number = 27448 time =
~replace tape on unit @
start reel 83 time = 112 12 68 11 85?

next tape not on line 13

”’water delay to 4.06060680 secande ttme =”ifé*f$?,. Eéffﬁ ,5 5ﬁ§iv

end of tape §ﬁat’ﬁUMUEF"“??#S“TTwm“*”1ﬁﬁ?ﬁﬁk1ﬁ“11~iﬂﬂk——ftt+~i 83
replace tape on unit 1
start reel 84 time = 112 28 1% 21 844

mnot on Ting 14
naxt tape not on line 14
next tape not on line 14

“tEﬁ*Y—WFTtF“TGG‘TEﬁ?T“?TTF—numb?r*ﬁc
can’t write too tape: file number 42
next tape not on line 14

next tape not on 1:ne 34
next tape not on line 14

'——t§ﬁ+1-mrTT?*tUU*tap?*“+T+?“nnmb?r~4a
can“t write too tape: file number 44
next tape not on line 14

£

can’t — “tape: fite nun 47
}c&n t wr;te too tape. file number 4?{
next tape not on line 14

'—“tan*t—eriﬁ—ixmrﬂnmmﬂ~+++?*nnmbvr¥48
can“t write too tape: +ile number 48
next tape not on line 14 :

can’t wrttg toc tape' file number 4? 

~ next tape not on line 14

”“tan‘t—wrfft—fon—fap?*~41Ft*nﬂmbtr~5
can’t write too tape: file number 358
next tape not on line 14

o

can”t wr{te tao tape. flie number.w 
next tape not on line 14

——mext-tape not-on—tine 14

next tape not on line 14
next tape not on line 14

next tape not on line 14

next tape not on line 14

next tape not on Tine 14
next tape not on line 14
next tape not on line 14

next tape not on
next tape not on line 14
no write ring on next tape unit 14

i
1
1
i
next tape not on line 14
!
1
i
1
1




channel two Ere~filter Sain = @ ‘
channel 1| post filter gein = 12 db
channel 2 post filter gain = 12 db
start reel 85 time = 113 88 A5 48 593

water delay to Z.088088 seconds time = (13 @4 568 28 817

shot = 178%

_ potential over load on channel i{file number = 1883 time = 113 85 866 88 937
potential over load on channel ifile number = 2753 time = 113 87 44 28 441
potential over load on channel 2

e ftile number = 2754 time = 1132 87 44 238 &4&1
potential over load on channel 1file number = 2757 time = 113 @7 45 88 &40
potential over load on channel 1file number = 2772 time = 113 87 47 48 &35

..... _potential over load on channel 1file number = 2884 time = 113 A8 A2 58 &23
end of tape shot number = 2944 time = 113 88 1& 328 595 reel = 25
replace tape on unit @

_.=start reel 84 time = 113 88 14 48 393
potential over load on channel 2
file number = 1882 time = 113 11 {7 1@8 222

. potential over load on channel 2
file number = 11%7 time = 1132 11 3& 1@ 182
potential over load on channel 1file number = 1228 time = 113 11 48 @@ 174

_potential over load on channel 2
file number = 1255 time = 113 11 45 5@ 142 ' : i
potential over load on channel 1file number = 138% time = {13 11 54 58 144

...... potential over load on channel 2
file number = 1372 time = 113 12 @5 28 122
potential over load on channel 2

. file pumber = 1387 time = 113 12 87 568 117 , ‘ ‘
potential over load on channel 1file numbervz-1388ft§mev=v313;12lﬁanﬁe 11é
pctentla! over load on channel 2 o B ’ e L

R __*lBBE_IUn&JE_LLE_Lzugﬁ&lB 116
potential over load on channel 2
file number = 13%8 time = 113 12 88 28 11&

_potential over load on channel 1file number = 13%1 time = 113 12 88 38 115
potential over load on channel 2 : ’ o '
file number = 1414 time = 113 12 12 20 1a? ;

___potential over load on channel 1file number = 1415 time = {13 12 12 368 187
potential over load on channel {file number = 14148 time = 113 12 12 48 187
potential over load on channel 14ile number = 1435 time = 113 12 15 S8 168

potential over load on channel 1file number = 1438 time = 113 12 19 48 892
potential over load on channel 2 P B o . '
file number = 145% time = 113 12 1% 58 B892 ,

__potential over load on channel 1file number = 1448 time = 113 12 268 88 6%1
potential over load on channel 1file number = 1441 time = {132 12 28 18 691
potential over load on channel 2
file number = 1478 time = 113 12 21 48 @888
potential over load on channel 1file number = 1474 time = 113 12 22 48 886

~ potential over load on channel 2 ' - .

__file number = 1477 time = 113 12 22 S8 234

| potential over load on channel 1file number = 1472 time = 11323 12 23 98 8&35
potential over load on channel 1file number = 14722 time = 113 12 25 28 656
potential over load on channel 1file number = 14132 time = 113 12 45 28 @3¢
potential over load on channel 1file number = 184% time = 113 12 54 58 819

F_miu_jﬂm._w&ﬂm_,sgmds__iim&._a. 112 15 15 1@ 728  shot = 2511

reel = B&

replace tape on unit 1
start reel 87 time = 113 16 27 4% 377

end of tape shot number = 2744 time = 113 1& 27 3% 577

\

|
|
|
;
|
|
!
:
|
|

i
-



water delav to |.B8EA66 seconds time = 113 17 8% 128 471 shot = 258
potential over load on channel 2
file number = 348 time = 113 17 24 18 448
potential over load on channel 2
file number = 3432 time = 112 17 24 48 45%
potential over lToad on channel 2 :
“File number = 42% time = 113 17 3% 23 429
potential over load on channel 2
file number = S58 time = 113 18 9@ 5@ 384
potential over locad on channel 1file number = S5% time = 113 18 @1 @8 324
potential over load on channel 2
file number = 588 time = 113 1884 3@ 377 —
water delay to 3.39999%9 seconds time = 113 18 85 18 375 shat 84
water delay to 9.080800 seconds time = 113 18 85 19 375 shot = 585

Toad on
&42 time

potential over
file number =
potential over load on

channel Z
= 113 18 14 S% 352
channel 2

file number = &44 time
potential over load on
file number = 676 time

= 113 18 13
channel 2 ol
= 113 18 Z@ 39 343

potential over load on
file number = &87 time
potential over load on

channel 2
= 113 18 22 2% 3329
channel 2

T File number = &%Z time

potentiat over load on
potential over load on

channel

= 113 18 2319 337
1file number
channel 1file number

time: 18 23 39 337

it
Y

potential over Toad on
file number = &5 time
potential over load on

channel 2
= 113 {8 232 4% 23&
channel 2

file number

file number = 781 time

= 788 time =
 potential ower load on

channet 2 h;
= 113 18 24 4% 334

7og 113 19 25 19 223

potential ower load on channel 1+tile number =
potential over load on channel 1file number 785 time = 112 18 25 2% 333
potential over load on channel 2

TELTS AERREE B AR

potent»al over ¥oad on

= 113718 29 49 3Z&
channel
‘channel

1file nu

{file number = 72 113 18 29 27 325

potential
file number = 737 time
potential over load on

over load on

channel 2
= 113 18 38 4% 322

File number = 738 time
potential over load on
file number = 753 time

vchannei 2
= 113 18 33 2?

channel 2
= 113 ‘

potential over load on

file number = 735 time

potential over load on
T fiTe number = 75é&

time

channel 2
= {113 18 33 4% 2i&
channel 2

=113 18 33 959 215

start reel 88 time =

w potential over load on channél'ifiie'numbéff*f’5?“ffme'  liS'i8'84 E?islﬁq
~ potential over load on channel 2 B ... o .
T ¥iTe number = 7&7 time = 11318 35 4% 311'

} water delay to 1.8080088 seconds time = 113 19 43 5% 178 shot = 117&

| water delay to 2.080800 seconds time = 112 21 85 28 881 shot = 1&&4
B e e : R :

‘ channel one pre—-filter gain = 8 db shot number @ time =

| channel two pre-filter gain = @

W*‘thannel’l poet filter gain =12 & 7 o
M channel 2 post filter gain = 12 db

|

114 @8 S8 18 535

potential over load an

water delay to 2.0088686 seconds time =

114 az az 18 3224
zhot = &&1

i1file number = 43% time =
114 6z 48 1@ 287

channel

a0



potential over load on channel 1file number = 824 time 114 a3 87 41 2058 ""]
i

end of tape shot number = 2944 time = 114 8% @1 5@ 515 resl = B8
replace tape on unit @
start reel 8% time = 113_@9 @z @8 5195

channel one pre—-filter gain @ db shot number @ time =
channel two pre—filter gain @
ilter gain = 12 db
channel 2 post filter gain = 12 db
ztart reel 98 time = 114 14 4% 3% 7%3

potential over load on channel 2

FiTe number = 275 time = 114 15 353 17 &%¢
potential over load on channel 2 :
file number = 393 time = {114 15 54 3% 452

water delay to 2.880800 seconds time = 114 17 38 1% 443 shot = 745

potential over load on channel Z
file number = 1225 time = 114 18 13 58 377

potential over load on channel 1file number = 1448 time = 114 18 S1 a@ 383
potential over Toad on channel 1file number = 1475 time = 119 18 S8 a6 293

potential over load on channel Z
file number = 1487 time = 114 18 ©F 38 278

potential over load on channel 1+ile number
potential over load on channel 2
file number = 1527 time = 114 1% 84 18 277

=)



